MANATEE COUNTY GOVERNMENT INTENT TO AWARD

| SUBJECT | Garden Heights Subdivision Waterline Replacement Project Project # 404-6085170 | DATE POSTED | MC 5 7 14 VSE DS 5 7 14 SE V CC5 7 14 VSE |
|------------------------------|--|-----------------------------------|---|
| PURCHASING REPRESENTATIVE | Donna M. Stevens ext. 3045 | DATE CONTRACT SHALL BE AWARDED | Seven days from date posted |
| DEPARTMENT | Public Works Department | CONSEQUENCES IF DEFERRED | Delay in project |
| SOLICITATION | IFB #14-0841-DS | AUTHORIZED BY DATE | Melissa Wendel May, 2014 |

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid # 14-0841-DS, Garden Heights Subdivision Waterline Replacement Project, to the lowest, responsive and responsible bidder, Secord Contracting Corporation of 4821 Coolidge Avenue, Tampa Florida 33622 for a total base bid of

\$727,116.50 for a completion time of 250 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Law

BACKGROUND/DISCUSSION

The work included in this contract consists of the construction of various sizes of waterlines and water services by directional drilling and other methods to replace existing waterlines, including all appurtenances, water meters, traffic control, pavement repair, valves, hydrants, permits, and coordination with county staff and residents. The work shall be performed in accordance with the related standards and specifications noted in the Invitation for Bid.

Appropriate bid procedures were followed. Notice of Bid availability advertised on DemandStar, mymanatee.org and the Manatee Chamber of Commerce.

Seven (7) bids were received.

| Manatee County Firm Westra Construction Corp | Bid Offering Bid "A" 310 days \$1,109,975.35 | Bid Offering Bid "B" 250 days No Bid |
|--|--|--|
| Hillsborough County Firm Secord Contracting Corp. Harris Mc-Burney Company Carl Hankins, Inc. | Bid Offering Bid "A" 310 days \$ 727,116.50 \$ 765,202.13 \$ 906,910.95 | Bid Offering Bid "B" 250 days \$ 727,116.50 \$ 765,202.13 \$ 952,510.95 |
| Charlotte County Firm D. R. Swanson Company | Bid Offering Bid "A" 310 days No Bid | Bid Offering Bid "B" 250 days \$1,192.335.10 |
| Brevard County Firm Young's Communication | Bid Offering Bid "A" 310 days \$ 951, 079.80 | Bid Offering Bid "B" 250 days \$ 951,079.80 |
| (Out of State) Gregory Electric Company | Bid Offering Bid "A" 310 days \$ 897,044.50 | Bid Offering Bid "B" 250 days \$ 897,044.50 |

| | | | Utility Rates | | | | |
|--|--|--|---------------|--------------------------------------|--|--|--|
| ATTACHMENTS (List in order of attached) | Department Recommendation Bid Tabulation | FUNDING SOURCE (Acct Number & Name) | □ x | Funds Verified Insufficient Funds | | | |
| | | AMT/FREQ OF RECURRING | | | | | |
| COST | \$727,116.50 | COSTS (Attach Fiscal Impact Statement) | | | | | |



| IN | TENT TO AWARD (continued) | Page 2 |
|-----|---|----------------------|
| | | |
| | | |
| • | On April 24, 2014 received from Public Works Department the recommendation to award to Secord Corlowest, responsive and responsible bidder for a total base bid of \$727,116.50 with a 250 calendar day com | |
| • | Funding will become available via the budget amendment Resolution No. B-14-053 which is on the Board of Agenda for May 6, 2014. | County Commissioners |
| • | This funding source for this Agreement will be WTR - Garden Heights Subdivision (404-6085170-534000/60 | 85170-0004) |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| | | |
| F:\ | Donna Stevens\IFB's for FY 2014\14-0841-DS Garden Heights Subdivision Waterline\INTENT TO A | WARD.docx |
| | | |
| | | |
| | | |
| | | |

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management

Division Manager

Date:

April 24, 2014

Subject:

Garden Heights Subdivision Waterline Replacement Project

Secord Contracting Corp.

Recommendation for Award - IFB#14-0841-DS



The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid "B", with a construction time of 250 Calendar Days be awarded to the lowest responsive, responsible bidder, Secord Contracting Corp. in the amount of \$727,116.50 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

The amount currently encumbered is less than the proposed contract amount, and a budget amendment will be prepared to fully fund the project prior to the contract award.

Please contact Kent Bontrager, Project Engineer II if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/kdb

CC:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Kent Bontrager, Project Engineer II

Project File: 6085170 9.2

Public Works Department Project Management Division 1022 26 * Avenue East, Bradenton, Ft. 34208-4926 Phone number (941) 708-7450

LARRY BUSTLE * MICHAEL GALLEN * JOHN R. CHAPPIE * ROBIN DISABATING * VANESSA RAUGH * CAROL WHITMORE * BETSY BENAC DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT PROPERTY SAPEND PLM Share\Projects\Project

IFB #14-0841-DS POTABLE WATER PROJECT NO. 6085170 GARDEN HEIGHTS WATERLINES

| | BID "A" 310 CALENDAR DAYS | | 1 | | | 2 | 25.50 | 3 | | 4 | Berg Cart | 5 | 0.000 | 6 | 7 | |
|---|------------------------------|-------|------------------|-----------------------|-------------------------------|--|----------------------------------|--|--------------------------|--|-------------------------|--|--|--|-----------------------|--|
| 310 CALENDAR DAYS | | | | | P.O. B Tampa (Hillsboro | ntracting Corp. Fox 26072 FL 33622 ough County) | 2120 U.S. Tampa (Hillsbord | Harris-McBurney Company 2120 U.S. Highway 301 Tampa, FL 33619 (Hillsborough County) | | Gregory Electric Company P.O. Drawer 1419 Columbia, SC 29202 | | Carl Hankins, Inc. 14512 N. Nebraska Avenue Tampa, FL 33613 (Hillsborough County) | | Young's Communication 424 West Drive Melbourne, FL 32904 (Brevard County) | | struction Corp. Avenue East o, FL 342221 ee County) |
| tem No. Line Item | Unit | Qty | Unit | Extended | Unit | Extended | Unit | Extended | Unit | Extended | Unit | Extended | Unit | Extended | Unit Extende | |
| 1 6" HDPE (C-906) (Directional Drill) | | 5,330 | Price \$28.50 | Price \$151,905.00 | Price \$23.60 | Price \$125,788.00 | Price \$27.25 | Price \$145,242.50 | Price \$25.50 | Price \$135,915.00 | Price \$35.25 | Price \$187,882.50 | Price \$33.00 | Price \$175,890.00 | Price Price No Bid | |
| 2 8" HDPE (C-906) (Directional Drill) | LF | 605 | \$33.00 | \$19,965.00 | \$30.70 | \$18,573.50 | \$38.50 | \$23,292.50 | \$32.00 | \$19,360.00 | \$49.00 | \$29,645.00 | \$53.00 | \$32,065.00 | No Bid | |
| 3 8° DI (CL-350) (Direct Bury) | LF | 85 | \$55.00 | \$4,675.00 | \$58.40 | \$4,964.00 | \$55.00 | \$4,675.00 | \$195.00 | \$16,575.00 | \$49.00 | \$3,442.50 | \$53.50 | \$4,547.50 | No Bid | |
| 4 6° DI (CL-350) (Direct Bury) | LF | 270 | \$45.00 | \$12,150.00 | \$33.50 | \$9,045.00 | \$37.00 | \$9,990.00 | \$195.00 | \$33,750.00 | \$29.00 | \$7,830.00 | \$41.90 | \$11,313.00 | No Bid | |
| 5 4° HDPE (C-906) (Directional Drill) | LF | 230 | \$18.00 | \$4,140.00 | \$16.10 | \$3,703.00 | \$17.00 | \$3,910.00 | \$23.00 | \$5,290.00 | \$29.00 | \$5,635.00 | \$35.90 | \$8,257.00 | No Bid | |
| 6 2" HDPE (C-906) (Directional Drill) | LF | 205 | \$14.00 | \$2,870.00 | \$9.80 | \$2,009.00 | \$13.00 | \$2,665.00 | \$12.00 | \$2,460.00 | \$13.00 | \$2,665.00 | \$19.20 | \$3,936.00 | No Bid | |
| 7 6* Gate Valve | EA | 22 | \$775.00 | \$17,050.00 | \$1,260.40 | \$27,728.80 | \$1,220.00 | \$26,840.00 | \$1,369.00 | \$30,118.00 | \$945.00 | \$20,790.00 | \$1,260.00 | \$27,720.00 | No Bid | |
| 8 4" Gate Valve | EA | 1 | \$550.00 | \$550.00 | \$1,021.00 | \$1,021.00 | \$1,000.00 | \$1,000.00 | \$1,369.00 | \$1,150.00 | \$784.00 | \$784.00 | \$1,280.00 | \$1,134.00 | No Bid | |
| 9 Ductile Iron Fittings, Water | - | 5,200 | \$3.10 | \$16,120.00 | \$5.50 | \$28,600.00 | \$5.00 | \$26,000.00 | \$6.50 | \$33,800.00 | \$5.00 | \$26,000.00 | \$3.50 | \$18,200.00 | No Bid | |
| 0 Fire Hydrant Assembly | EA | 8 | \$5,800.00 | \$46,400.00 | \$4,957.00 | \$39,656.00 | \$5,800.00 | \$46,400.00 | \$5,600.00 | \$44,800.00 | \$4,636.00 | \$37,088.00 | \$4,720.00 | \$37,760.00 | No Bid | |
| 1 Water Service (Long) (Single) | EA | 6 | \$950.00 | \$5,700.00 | \$1,090.00 | \$6,540.00 | \$1,700.00 | the state of the s | | and the second s | - | The second second second second | | | No Bid | |
| 2 Water Service (Cong) (Single) | EA | 24 | \$625.00 | \$15,000.00 | \$861.00 | \$20,664.00 | \$1,700.00 | \$10,200.00 \$25,200.00 | \$1,900.00 \$1,143.00 | \$11,400.00 \$27,432.00 | \$1,718.00 \$906.00 | \$10,308.00 \$21,744.00 | \$1,300.00 \$1,010.00 | \$7,800.00 \$24,240.00 | No Bid | |
| 3 Water Service (Snort) (Single) | EA | 45 | \$1,000.00 | \$45,000.00 | \$1,534.00 | \$69,030.00 | \$2,200.00 | \$99,000.00 | \$1,143.00 | \$102,825.00 | \$906.00 | \$21,744.00 | \$1,010.00 | \$75,825.00 | No Bid | |
| | EA | 23 | \$950.00 | \$21,850.00 | \$1,362.00 | \$31,326.00 | \$1,550.00 | | | \$34,040.00 | \$1,554.00 | \$35,742.00 | \$1,685.00 | \$34,845.00 | No Bid | |
| | EA | 140 | \$900.00 | \$126,000.00 | \$525.00 | \$73,500.00 | \$1,350.00 | \$35,650.00 \$162,400.00 | \$1,480.00 | | - | | The state of the s | | No Bid | |
| 5 Private Water Service Relocation, Complete 6 BF Preventers w/Exp. Tank & Vac. Breakers | EA | 25 | \$500.00 | \$12,500.00 | \$690.00 | \$17,250.00 | \$1,072.00 | \$26,800.00 | \$265.00 | \$37,100.00 | \$1,161.00 | \$162,540.00 | \$1,810.00 | \$253,400.00 | No Bid | |
| 7 Remove Existing Valve/Saddle, Install Sleeve/Plug | EA | 3 | \$550.00 | \$1,650.00 | \$1,630.00 | \$4,890.00 | \$530.00 | \$1,590.00 | \$670.00 | \$16,750.00 | \$746.00 | \$18,650.00 | \$790.00 | \$19,750.00 | No Bid | |
| | EA | 3 | \$1,500.00 | \$4,500.00 | \$2,685.00 | \$8,055.00 | \$1,500.00 | The second secon | \$450.00 \$650.00 | \$1,350.00 | \$10,185.00 \$226.00 | \$30,555.00 | \$1,100.00 | \$3,300.00 \$5,970.00 | No Bid | |
| | SY | 100 | \$55.10 | \$5,510.00 | \$65.00 | \$6,500.00 | \$66.00 | \$4,500.00 | | \$1,950.00 | | \$678.00 | - | A STATE OF THE PARTY OF THE PAR | | |
| 9 Driveway Restoration 0 Grout Fill Abandoned Pipe | CF | 600 | \$12.50 | \$7,500.00 | \$12.00 | \$7,200.00 | \$5.50 | \$6,600.00 | \$75.00 | \$7,500.00 | \$50.00 | \$5,000.00 | \$6.60 | \$660.00 | No Bid No Bid | |
| 1 Sodding | | 3,000 | \$10.10 | \$30,300.00 | \$3.60 | \$10,800.00 | \$4.50 | \$3,300.00 \$13,500.00 | \$15.00 \$6.50 | \$9,000.00 \$19,500.00 | \$6.00 \$3.50 | \$3,600.00 | \$6.95 \$2.35 | \$4,170.00 \$7,050.00 | No Bid | |
| 2 Erosion Control | LS | 1 | \$1,200.00 | \$1,200.00 | \$2,900.00 | \$2,900.00 | \$6,500.00 | \$6,500.00 | \$2,200.00 | The second secon | \$1,362.00 | \$10,500.00 | \$4,475.00 | \$4,475.00 | No Bid | |
| 3 Concrete Curb Replacement | LF | 60 | \$35.00 | \$2,100.00 | \$54.00 | \$3,240.00 | \$34.00 | \$2,040.00 | \$45.00 | \$2,200.00 \$2,700.00 | \$32.00 | \$1,920.00 | \$22.10 | \$1,326.00 | No Bid | |
| 4 Asphalt Road Restoration (Base & Resurface) | SY | 200 | \$55.55 | \$11,110.00 | \$80.00 | \$16,000.00 | \$62.00 | \$12,400.00 | \$32.00 | \$6,400.00 | \$43.00 | \$8,600.00 | \$75.25 | \$15,050.00 | No Bid | |
| 25 Asphalt Road Restoration (Mill & Resurface) | | | \$18.10 | \$12,670.00 | \$46.75 | \$32,725.00 | \$38.00 | \$26,600.00 | \$35.00 | \$24,500.00 | \$30.00 | \$21,000.00 | \$53.00 | \$37,100.00 | No Bid | |
| 6 Pipe Adapter | EA | 45 | \$75.00 | \$3,375.00 | \$380.00 | \$17,100.00 | \$350.00 | \$15,750.00 | \$174.50 | \$7,852.50 | \$165.00 | \$7,425.00 | \$380.00 | \$17,100.00 | No Bid | |
| 7 Pipe Joint Restraints | EA | 75 | \$75.00 | \$5,625.00 | \$216.00 | \$16,200.00 | \$125.00 | \$9,375.00 | \$125.00 | \$9,375.00 | \$76.00 | \$5,700.00 | \$320.00 | \$24,000.00 | No Bid | |
| 8 Blowoff Assembly, 2" | EA | 2 | \$350.00 | \$700.00 | \$667.50 | \$1,335.00 | \$1,500.00 | \$3,000.00 | \$510.00 | \$1,020.00 | \$1,235.00 | \$2,470.00 | \$290.00 | \$580.00 | No Bid | |
| 9 Sidwalk Restoration | SY | 50 | \$50.00 | \$2,500.00 | \$54.00 | \$2,700.00 | \$55.00 | \$2,750.00 | \$65.00 | \$3,250.00 | \$41.00 | \$2,050.00 | \$40.00 | \$2,000.00 | No Bid | |
| 0 Air Release Assembly | EA | 2 | \$500.00 | \$1,000.00 | \$2,225.50 | \$4,451.00 | \$2,300.00 | \$4,600.00 | \$2,425.00 | \$4,850.00 | \$1,902.00 | \$3,804.00 | \$1,960.00 | \$3,920.00 | No Bid | |
| 1 Traffic Control | LS | 1 | \$5,500.00 | \$5,500.00 | \$5,500.00 | \$5,500.00 | \$8,500.00 | \$8,500.00 | \$14,000.00 | \$14,000.00 | \$4,000.00 | \$4,000.00 | \$25,500.00 | \$25,500.00 | No Bid | |
| 12 16" x 8" Tap Sleeve & Valve | EA | 1 | \$2,100.00 | \$2,100.00 | \$3,271.00 | \$3,271.00 | \$7,300.00 | \$7,300.00 | \$11,781.00 | \$11,781.00 | \$2,485.00 | \$2,485.00 | \$8,850.00 | \$8,850.00 | No Bid | |
| 3 14" x 8" Tap Sleeve & Valve | EA | 1 | \$2,000.00 | \$2,000.00 | \$3,253.00 | \$3,253.00 | \$7,025.00 | \$7,025.00 | \$11,795.00 | \$11,795.00 | \$2,395.00 | \$2,395.00 | \$8,835.00 | \$8,835.00 | No Bid | |
| 14 14" x 6" Tap Sleeve & Valve | EA | 1 | \$1,800.00 | \$1,800.00 | \$2,677.00 | \$2,677.00 | \$5,900.00 | \$5,900.00 | \$12,176.00 | \$12,176.00 | \$1,858.00 | \$1,858.00 | \$3,500.00 | \$3,500.00 | No Bid | |
| Subtotal Construction Cost | - | 1200 | 0.,000.00 | \$603,015.00 | 12,511.00 | \$628,195.30 | 55,550.00 | \$790,495.00 | 972,170.00 | \$703,964.50 | \$1,000.00 | \$783,618.00 | 40,000.00 | \$910,068.50 | No Bid | |
| Mobilization | LS | 1 | \$40,000.00 | \$40,000.00 | \$46,913.00 | \$46,913.00 | \$24,000.00 | \$24,000.00 | \$114,000.00 | \$114,000.00 | \$54,000.00 | \$54,000.00 | \$37,000.00 | \$37,000.00 | No Bid | |
| 66 Miscellaneous Work & Clean Up | LS | 1 | \$18,000.00 | \$18,000.00 | \$20,530.00 | \$20,530.00 | \$1,000.00 | \$1,000.00 | \$6,500.00 | \$6,500.00 | \$27,000.00 | \$27,000.00 | \$62,000.00 | \$62,000.00 | No Bid | |
| Total Base Bid | | 10000 | 0.000000 | \$661,015.00 | 020,000.00 | \$695,638.30 | \$1,000.00 | \$815,495.00 | \$0,500.00 | \$824,464.50 | 427,000.00 | \$864,618.00 | 502,000.00 | \$1,009,068.50 | No Bid | |
| 7 Contract Contingency | % | 10 | CALLED TO BE | \$66,101.50 | URNER BER | \$69,563.83 | | \$81,549.50 | | \$82,446.45 | | \$86,461.80 | | \$100,906.85 | No Bid | |
| Total Contract Award - Garden Heights | - | 10 | BUSINESS CO. | | | | Charles Street | | EUR GRAN | | | | | | | |
| Subdivision Waterline Project | 1 | 100 | 100 | \$727,116.50 | | \$765,202.13 | | \$897,044.50 | | \$906,910.95 | | \$951,079.80 | | \$1,109,975.35 | No Bid | |
| Acknowledged Addendum #1 | | | | Yes | | Yes | | Yes | Y | 'es | 1 | /es | Yes Yes | | No Bid | |
| Contractor's Questionnaire | CAS | | | Yes | | Yes | | Yes | Y | 'es | 1 | Yes | | | No Bid | |
| Contractor's License | 1000 | e Big | | 057194 | | 1514783 | | 208302 AAC8208079 | | 057433 | | 057425 | CGC062888 | | No Bid | |
| Florida Trench Safety Act | | | | Yes | | Yes | | Yes | | res | - | res | Yes | | No Bid | |
| | | | | Yes | | Yes | | Yes | | 'es | | | - | | | |
| Public Contracting & Environmental Crimes | - | | | | | | | | | | | Yes | | Yes | No Bid | |
| Affidavit for Local Business (if applicable) | | | | No | | Yes | | No | | Vo | | No | 4 | No | No Bid | |
| Bid Bond | 100 | | | Yes | | Yes | | Yes | Y | 'es | | Yes | | Yes | No Bid | |

IFB #14-0841-DS POTABLE WATER PROJECT NO. 6085170 GARDEN HEIGHTS WATERLINES

| | | | THE REAL PROPERTY. | 1 | | 2 | THE REAL PROPERTY. | 3 | Salar Salar | 4 | Marie Control | 5 | 10 M | 6 | 157.9 3 (0) | 7 | | |
|--|-------------------------------------|-------|-------------------------------|--|----------------------------------|---|--------------------|--|-------------------------------------|---|--|-------------------|--|-------------------|---|-------------------|--|------------|
| BID "B" 250 CALENDAR DAYS | | | P.O. B Tampa (Hillsboro | ntracting Corp. lox 26072 , FL 33622 ough County) | 2120 U.S. Tampa (Hillsbord | urney Company Highway 301 I, FL 33619 ough County) | P.O. Di Columbi | ectric Company rawer 1419 ia, SC 29202 | 14512 N. Ne Tampa, (Hillsboro | nkins, inc. braska Avenue , FL 33613 ugh County) | Young's Communication 424 West Drive Melbourne, FL 32904 (Brevard County) | | Westra Construction Corp. 1263 12th Avenue East Palmetto, FL 342221 (Manatee County) | | D.R. Swanson Company 13744 Long Lake Lane Port Chalotte, FL 33953 (Charlotte County) | | | |
| No. Line Item | Unit | Qty | Unit Price | Extended Price | Unit Price | Extended Price | Unit Price | Extended Price | Unit Price | Extended Price | Unit Price | Extended Price | Unit Price | Extended Price | Unit Price | Extended Price | | |
| 1 6" HDPE (C-906) (Directional Drill) | A CONTRACTOR OF THE PERSON NAMED IN | 5,330 | \$28.50 | \$151,905.00 | \$23.60 | \$125,788.00 | \$27.25 | \$145,242.50 | \$26.77 | \$142,684.10 | \$35.25 | \$187,882.50 | | Bid | \$25.20 | \$134,316.00 | | |
| 2 8" HDPE (C-906) (Directional Drill) | LF | 605 | \$33.00 | \$19,965.00 | \$30.70 | \$18,573.50 | \$38.50 | \$23,292.50 | \$33.60 | \$20,328.00 | \$49.00 | \$29,645.00 | | Bid | \$33.00 | \$19,965.00 | | |
| 3 8" DI (CL-350) (Direct Bury) | LF | 85 | \$55.00 | \$4,675.00 | \$58.40 | \$4,964.00 | \$55.00 | \$4,675.00 | \$204.75 | \$17,403.75 | \$40.50 | \$3,442.50 | | Bid | \$103.00 | \$8,755.00 | | |
| 4 6° DI (CL-350) (Direct Bury) | | 270 | \$45.00 | \$12,150.00 | \$33.50 | \$9,045.00 | \$37.00 | \$9,990.00 | \$131.25 | \$35,437.50 | \$29.00 | \$7,830.00 | No Bid | | \$58.00 | \$15,660.00 | | |
| 5 4" HDPE (C-906) (Directional Drill) | LF | 230 | \$18.00 | \$4,140.00 | \$16.10 | \$3,703.00 | \$17.00 | \$3,910.00 | \$24.15 | \$5,554.50 | \$24.50 | \$5,635.00 | | | | No Bid | | \$4,485.00 |
| 6 2" HDPE (C-906) (Directional Drill) | LF | 205 | \$14.00 | \$2,870.00 | \$9.80 | \$2,009.00 | \$13.00 | \$2,665.00 | \$12.60 | \$2,583.00 | \$13.00 | \$2,665.00 | | Bid | \$19.50 \$10.40 | \$2,132.00 | | |
| 7 6" Gate Valve | EA | 22 | \$775.00 | \$17,050.00 | \$1,260.40 | \$27,728.80 | \$1,220.00 | \$26,840.00 | \$1,437.45 | \$31,623.90 | \$945.00 | \$20,790.00 | | Bid | \$1,316.00 | \$28,952.00 | | |
| 8 4" Gate Valve | EA | 1 | \$550.00 | \$550.00 | \$1,021.00 | \$1,021.00 | \$1,000.00 | \$1,000.00 | \$1,207.50 | \$1,207.50 | \$784.00 | \$784.00 | | Bid | \$1,024.00 | \$1,024.00 | | |
| 9 Ductile Iron Fittings, Water | | 5,200 | \$3.10 | \$16,120.00 | \$5.50 | \$28,600.00 | \$5.00 | \$26,000.00 | \$6.82 | \$35,464.00 | \$5.00 | \$26,000.00 | | Bid | \$3.80 | \$19,760.00 | | |
| 10 Fire Hydrant Assembly | EA | 8 | \$5,800.00 | \$46,400.00 | \$4,957.00 | \$39,656.00 | \$5,800.00 | \$46,400.00 | \$5,880.00 | \$47,040.00 | \$4,636.00 | \$37,088.00 | | Bid | \$7,704.00 | \$61,632.00 | | |
| 11 Water Service (Long) (Single) | EA | 6 | \$950.00 | \$5,700.00 | \$1,090.00 | \$6,540.00 | \$1,700.00 | \$10,200.00 | \$1,995.00 | \$11,970.00 | \$1,718.00 | \$10,308.00 | | Bid | \$1,640.00 | \$9,840.00 | | |
| 12 Water Service (Short) (Single) | EA | 24 | \$625.00 | \$15,000.00 | \$861.00 | \$20,664.00 | \$1,050.00 | \$25,200.00 | \$1,200.15 | \$28,803.60 | \$906.00 | \$21,744.00 | | Bid | \$1,091.00 | \$26,184.00 | | |
| 13 Water Service (Long) (Double) | EA | 45 | \$1,000.00 | \$45,000.00 | \$1,534.00 | \$69,030.00 | \$2,200.00 | \$99,000.00 | \$2,399.25 | \$107,966.25 | \$2,166.00 | \$97,470.00 | | Bid | \$2,179.00 | \$98,055.00 | | |
| 14 Water Service (Short) (Double) | EA | 23 | \$950.00 | \$21,850.00 | \$1,362.00 | \$31,326.00 | \$1,550.00 | \$35,650.00 | \$1,554.00 | \$35,742.00 | \$1,554.00 | \$35,742.00 | - | Bid | \$1,647.00 | \$37,881.00 | | |
| 15 Private Water Service Relocation, Complete | EA | 140 | \$900.00 | \$126,000.00 | \$525.00 | \$73,500.00 | \$1,160.00 | \$162,400.00 | \$278.25 | \$38,955.00 | \$1,161.00 | \$162,540.00 | - | Bid | \$2,545.00 | \$356,300.00 | | |
| 16 BF Preventers w/Exp. Tank & Vac. Breakers | EA | 25 | \$500.00 | \$12,500.00 | \$690.00 | \$17,250.00 | \$1,072.00 | \$26,800.00 | \$703.50 | \$17,587.50 | \$746.00 | \$18,650.00 | | Bid | \$1,014.00 | \$25,350.00 | | |
| 17 Remove Existing Valve/Saddle, Install Sleeve/Plug | EA | 3 | \$550.00 | \$1,650.00 | \$1,630.00 | \$4,890.00 | \$530.00 | \$1,590.00 | \$472.50 | \$1,417.50 | \$10,185.00 | \$30,555.00 | | Bid | \$1,778.00 | \$5,334.00 | | |
| 18 Connect to Existing Waterlines | EA | 3 | \$1,500.00 | \$4,500.00 | \$2,685.00 | \$8,055.00 | \$1,500.00 | \$4,500.00 | \$682.50 | \$2,047.50 | \$226.00 | \$678.00 | | Bid | \$994.00 | \$2,982.00 | | |
| 19 Driveway Restoration | SY | 100 | \$55.10 | \$5,510.00 | \$65.00 | \$6,500.00 | \$66.00 | \$6,600.00 | \$78.75 | \$7,875.00 | \$50.00 | \$5,000.00 | | Bid | \$77.00 | \$7,700.00 | | |
| 20 Grout Fill Abandoned Pipe | CF | 600 | \$12.50 | \$7,500.00 | \$12.00 | \$7,200.00 | \$5.50 | \$3,300.00 | \$15.75 | \$9,450.00 | \$6.00 | \$3,600.00 | and the latest and th | Bid | \$9.30 | \$5,580.00 | | |
| 21 Sodding | | 3,000 | \$10.10 | \$30,300.00 | \$3.60 | \$10,800.00 | \$4.50 | \$13,500.00 | \$6.82 | \$20,460.00 | \$3.50 | \$10,500.00 | | Bid | \$3.00 | \$9,000.00 | | |
| 22 Erosion Control | LS | 1 | \$1,200.00 | \$1,200.00 | \$2,900.00 | \$2,900.00 | \$6,500.00 | \$6,500.00 | \$2,310.00 | \$2,310.00 | \$1,362.00 | \$1,362.00 | - | Bid | \$9,199.00 | \$9,199.00 | | |
| 23 Concrete Curb Replacement | LF | 60 | \$35.00 | \$2,100.00 | \$54.00 | \$3,240.00 | \$34.00 | \$2,040.00 | \$47.25 | \$2,835.00 | \$32.00 | \$1,920.00 | | Bid | \$46.30 | \$2,778.00 | | |
| 24 Asphalt Road Restoration (Base & Resurface) | SY | 200 | \$55.55 | \$11,110.00 | \$80.00 | \$16,000.00 | \$62.00 | \$12,400.00 | \$33.60 | \$6,720.00 | \$43.00 | \$8,600.00 | - | Bid | \$77.20 | \$15,440.00 | | |
| 25 Asphalt Road Restoration (Mill & Resurface) | SY | 700 | \$18.10 | \$12,670.00 | \$46.75 | \$32,725.00 | \$38.00 | \$26,600.00 | \$36.75 | \$25,725.00 | \$30.00 | \$21,000.00 | | Bid | \$46.90 | \$32,830.00 | | |
| 26 Pipe Adapter | EA | 45 | \$75.00 | \$3,375.00 | \$380.00 | \$17,100.00 | \$350.00 | \$15,750.00 | \$183.22 | \$8,244.90 | \$165.00 | \$7,425.00 | | Bid | \$189.00 | \$8,505.00 | | |
| 27 Pipe Joint Restraints | EA | 75 | \$75.00 | \$5,625.00 | \$216.00 | \$16,200.00 | \$125.00 | \$9,375.00 | \$131.25 | \$9.843.75 | \$76.00 | \$5,700.00 | | Bid | \$262.00 | \$19,650.00 | | |
| 28 Blowoff Assembly, 2" | EA | 2 | \$350.00 | \$700.00 | \$667.50 | \$1,335.00 | \$1,500.00 | \$3,000.00 | \$535.50 | \$1,071.00 | \$1,235.00 | \$2,470.00 | | Bid | \$566.00 | \$1,132.00 | | |
| 29 Sidwalk Restoration | SY | 50 | \$50.00 | \$2,500.00 | \$54.00 | \$2,700.00 | \$55.00 | \$2,750.00 | \$68.25 | \$3,412.50 | \$41.00 | \$2,050.00 | | Bid | \$46.30 | \$2,315.00 | | |
| 30 Air Release Assembly | EA | 2 | \$500.00 | \$1,000.00 | \$2,225.50 | \$4,451.00 | \$2,300.00 | \$4,600.00 | \$2,546.25 | \$5,092.50 | \$1,902.00 | \$3,804.00 | | Bid | \$2,147.00 | \$4,294.00 | | |
| 31 Traffic Control | LS | 1 | \$5,500.00 | \$5,500.00 | \$5,500.00 | \$5,500.00 | \$8,500.00 | \$8,500.00 | \$14,700.00 | \$14,700.00 | \$4,000.00 | \$4,000.00 | | Bid | \$27,913.00 | \$27,913.00 | | |
| 32 16" x 8" Tap Sleeve & Valve | EA | 1 | \$2,100.00 | \$2,100.00 | \$3,271.00 | \$3,271.00 | \$7,300.00 | \$7,300.00 | \$12,370.05 | \$12,370.05 | \$2,485.00 | \$2,485.00 | | Bid | \$5,466.00 | \$5,466.00 | | |
| 33 14" x 8" Tap Sleeve & Valve | EA | 1 | \$2,000.00 | \$2,000.00 | \$3,253.00 | \$3,253.00 | \$7,025.00 | \$7,025.00 | \$12,384.75 | \$12,384.75 | \$2,395.00 | \$2,395.00 | - | Bid | \$5,022.00 | \$5,022.00 | | |
| 34 14" x 6" Tap Sleeve & Valve | EA | 1 | \$1,800.00 | \$1,800.00 | \$2,677.00 | \$2,677.00 | \$5,900.00 | \$5,900.00 | \$12,784.00 | \$12,784.00 | \$1,858.00 | \$1,858.00 | | Bid | \$4,041.00 | \$4,041.00 | | |
| Subtotal Construction Cost | | 35015 | Pale lieu | \$603,015.00 | 102 (HES | \$628,195.30 | The second | \$790,495.00 | feet en invest | \$739,094.05 | | \$783,618.00 | | Bid | A STATE OF | \$1,019,472.00 | | |
| 35 Mobilization | LS | 1 | \$40,000.00 | \$40,000.00 | \$46,913.00 | \$46,913.00 | \$24,000.00 | \$24,000.00 | \$120,000.00 | \$120,000.00 | \$54,000.00 | \$54,000.00 | No | Bid | \$61,713.00 | \$61,713.00 | | |
| 36 Miscellaneous Work & Clean Up | LS | 1 | \$18,000.00 | \$18,000.00 | \$20,530.00 | \$20,530.00 | \$1,000.00 | \$1,000.00 | \$6,825.00 | \$6,825.00 | A PROPERTY AND ADDRESS OF THE PARTY OF THE P | \$27,000.00 | No | Bid | \$2,756.00 | \$2,756.00 | | |
| Total Base Bid | | | | \$661,015.00 | WENT STEEL | \$695,638.30 | | \$815,495.00 | | \$865,919.05 | | \$864,618.00 | No | Bid | 15000 | \$1,083,941.00 | | |
| 37 Contract Contingency | % | 10 | DESCRIPTION OF THE | \$66,101.50 | ar intar | \$69,563.83 | MESTERS! | \$81,549.50 | THE RESERVE | \$86,591.90 | | \$86,461.80 | No | Bid | | \$108,394.10 | | |
| Total Contract Award - Garden Heights Subdivision Waterline Project | | He. | Market 1 | \$727,116.50 | | \$765,202.13 | | \$897,044.50 | | \$952,510.95 | | \$951,079.80 | No | Bid | MASSA | \$1,192,335.10 | | |
| Acknowledged Addendum #1 | | | | Yes | | Yes | | Yes | | Yes | 1 | Yes | No Bid | | Yes | | | |
| | 1 | | | | | | | | | | | | | | | | | |
| Contractor's Questionnaire | | | | Yes | | Yes | | Yes | | Yes | Yes | | No Bid | | Yes | | | |
| Contractor's License | 1 | | | 057194 | | 1514783 | | 8208302 &ACE208079 | | 057433 | CUC057425 | | | | | 056697 | | |
| Florida Trench Safety Act | 127 | | | Yes | | Yes | | Yes | | Yes | Yes | | | Bid | | Yes | | |
| Public Contracting & Environmental Crimes | 1/100 | | | Yes | | Yes | | Yes | | Yes | Yes | | No | Bid | | Yes | | |
| Affidavit for Local Business (if applicable) | | | | No | | Yes | | No | | No | | No | No | Bid | | No | | |
| Bid Bond | 1984 | 2 X X | | Yes | | Yes | | Yes | 1 | Yes | | Yes | No. | Bid | | Yes | | |

BID TABULATION

FOR

IFB #14-0841-DS

POTABLE WATER PROJECT NO. 6085170 GARDEN HEIGHTS WATERLINES

BID "B" BASED ON A COMPLETION TIME OF 250 CALENDAR DAYS

| PREPARED BY: (Project Management) | Showi Robinson, Assessment Coordinator | 4/16/14 Date |
|--------------------------------------|---|-----------------|
| REVIEWED BY: (Project Engineer) | Jim Stockwell, P.E., Sr. Project Engineer | 4/21/14 Date |
| PROJECT MANAGER: | Kent Bontrager, P.E., Project Engineer II | 4/z3//4 Date |
| APPROVED BY: (Purchasing) | Donna Stevens, Contract Specialist | 5/2/14 Date |

Page 2 of 2

4/16/2014